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ELEMENTARY COMPUTER APPLICATION
(Compulsory)

Feifa au=g - 2 =52 | [ 3tfereRem 37ek - 100
Time Allowed : 2 Hours | [ Maximum Marks : 100

Important Instructions
wEvarqut fder

Attempt all questions. Each question carries 1 mark. Questions have been set in English. Hindi
translation is being given for the convenience of students. Candidates have to write correct answer
(A) or (B) or (C) or (D) in the space provided against the questions on OMR Answer-Sheet.
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IBM 1401 1S ..c.veeueees computer.
(A) First Generation

(B) Second Generation

(C) Third Generation

(D) Fourth Generation

(A) Video Graphics Array
(B) Visual Graphics Array
(C) Volatile Graphics Array
(D) Video Graphics Adapter

Which of the following is part of the CPU ?
(A) Printer

(B) Keyboard

(C) Mouse

(D) ALU

Which of the following is a storage device ?
(A) Tape

(B) Hard disk

(C) Floppy disk

(D) All of these

The computer size was very large in :
(A) First generation

(B) Second generation

(C) Third generation

(D) Fourth generation
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6.

10.

The output quality of a printer is measured
by :

(A) Dot per inch

(B) Dot per sq. inch

(C) Dots printed per unit time

(D) All of these

Which of the following are input devices ?
(A) Keyboard

(B) Mouse

(C) Card reader

(D) All of these

8 bits = ?

(A) 1 Byte

(B) 4 Byte

(C) 8 Byte

(D) None of these

Which one of the following is not a
Computer Language ?

(A) MS-Excel

(B) BASIC

(C) COBOL

(D) C++

CRT is a form of :
(A) Keyboard
(B) Mouse

(C) Monitor

(D) Motherboard
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11.

12.

13.

14.

15.

Which one of the following is not a input
device ?

(A) Trackball

(B) Mouse

(C) Monitor

(D) Scanner

DVD is a form of :
(A) Hard disk

(B) Optical disk
(C) Output device
(D) SSD

Junk e-mail is also called :
(A) Spoof

(B) Spam

(C) Spool

(D) Sniffer Script

The process of copying data from the

memory location is called :
(A) Booting
(B) Buming
(C) Reading
(D) Writing

The topology with highest reliability is :
(A) Bus topology

(B) Star topology

(C) Ring topology

(D) Mesh topology
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16.

17.

18.

19.

20.

Which is an example of Augmented Reality ?
(A) MS-PowerPoint

(B) MS-Word

(C) MS-Excel

(D) Google Glass

.................. bar shows the name of the
document in MS-Word.

(A) Title
(B) Status
(C) Timeline
(D) Name

Which keyboard shortcut is used to rename
the selected item ?

(A) F2
(B) F3
(C) F4
(D) F5

The keyboard shortcut for Undo operation
is:

(A) Ctrl+U

(B) Shift+Z

(C) Alt+U

(D) Ctrl+Z

The keyboard shortcut for Center Align
Text :

(A) Alt+E
(B) Ctrl +C
(C) Ctrl+E
(D) Alt+C
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21.

22,

23.

24.

25.

The keyboard shortcut for select all in MS-
word :

(A) Ctrl+A

(B) Shift+A

(C) Alt+A

(D) Shift+C

Shortcut key for slide show is :
(A) F5

(B) F1

(C) F12

(D) F8

E-mail stands for :
(A) Electronic mail
(B) Excess mail
(C) Education mail
(D) Express mail

............. is an Application Software available

in windows for draw or edit picture.
(A) Yahoo Brush

(B) Adobe Reader

(C) VLC Player

(D) Paint

What is the collection of information ?
(A) Printer

(B) Path

(C) File

(D) Printout
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26.

27.

28.

29.

30.

The process of organising data in a particular

order is :

(A) Searching
(B) Sorting
(C) Merging
(D) Storing

Rules for transferring data between two
computers are known as :

(A) Interconnection

(B) Protocol

(C) Topology

(D) Network

................. is used to protect Network from

outside attacks.
(A) Fortress
(B) DNS

(C) Extranet
(D) Firewall

Who is ‘Father of Computer’ ?
(A) Bill Gates

(B) Charles Babbage

(C) Lerry Page

(D) Lady Lara

Microsoft word is used to prepare, exept :
(A) Mail merge

(B) Presentation

(C) Memo

(D) Termpaper
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31.

32.

33.

34.

3S.

What is a URL ?

(A) E-mail address

(B) The title of website

(C) Address of a page on www

(D) Communication method

Collection of inter-related data is called :
(A) Sheet

(B) Table

(C) Database

(D) File

..................... used to transfer files over

Internet.
(A) HTTP
(B) FTP
(C) TCP
(D) SMTP

Unwanted e-mails are called :
(A) SPAM

(B) FLAME

(C) JUNK

(D) LURK

Which one is input device ?
(A) Keyboard

(B) Printer

(C) Monitor

(D) Server
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36.

37.

38.

39.

Which one is not output device ?
(A) Keyboard

(B) Printer

(C) Monitor

(D) Server

What is Drone ?

(A) An Unmanned Aerial Vehicle
(B) Web Browser

(C) A WiFi Technology

(D) Wireless charger

Choose the appropriate option from the
following :

(A) Mozilla Firefox, Safari, Google Chrome
are examples of Web browser

(B) Monitor, Printer, Webcam are examples
of Hardware devices

(C) Windows 7, Android, Linux are
examples of operating system

(D) All of these

What is the full form of MICR ?

(A) Magnetic Ink Character Recognition
(B) Mouse Intercoding Recognition

(C) Magnetic Intercoding Recognition

(D) Main Intercoding Recognition
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40. Which of the following is an example of

41.

42.

43.

Impact Printer ?

(A) Ink Jet Printer

(B) Laser Jet Printer
(C) Dot Matrix Printer
(D) None of these

Today Internet Banking uses
that send on customer’s registered mobile
number, as one of the additional security
element credentials to make transactions
safe and secure in addition to using a secure
website.

(A) Open Transaction Password

(B) Open Time Password

(C) One Time Password

(D) PDF

What is the default data type in MS-Access
2010 ?

(A) Number

(B) Currency

(C) Text

(D) Varchar

Which inbuilt option of windows 10 allows
us to place upto four windows on a single

screen ?

(A) Assist

(B) Snap Assist

(C) Screen Assist
(D) Printscreen Assist
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44.

45.

46.

47.

48.

Which of the following is not an input
device ?

(A) Mouse

(B) Keyboard

(C) Light Pen

(D) Monitor

Which is a volatile memory ?
(A) RAM

(B) PROM

(C) ROM

(D) EPROM

Autocorrect was originally designed to

replace

(A) Short, repetitive

words as you type.

(B) Grammatically incorrect
(C) Misspelled
(D) None of these

Ctrl + Right Arrow is used to :

(A) Moves the Cursor one word right

(B) Moves the Cursor end of the line

(C) Moves the Cursor end of the document
(D) Moves the Cursor one paragraph

down

Which file starts MS words ?
(A) Winword.exe

(B) Word.exe

(C) MSword.exe

(D) Word 356.exe
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49.

50.

S1.

52.

53.

Ctrl + N is used to :
(A) Save document
(B) Open document
(C) New document

(D) Close document

Which of the following is not valid version
of MS-Office ?

(A) Office 2007
(B) Office Vista
(C) Office 2016
(D) Office 365

Shortcut Ctrl + T is used to :

(A) Hanging Indent

(B) Left Indent

(C) Open Tabs Dialog Box

(D) Terminate all opened dialog box

A computer on the Internet is uniquely
identified by :

(A) E-mail address

(B) Web address

(C) IP address

(D) Home address

................ enables us to send the same letter
to different persons in MS-Word.

(A) Mail Join

(B) Mail Paste

(C) Mail Insert

(D) Mail Merge
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54.

SS.

56.

57.

58.

Which one is the highest rate of data transfer
medium ?

(A) Twisted Pair Wire

(B) Coaxial Cable

(C) Optical Fiber

(D) None of these

End key is used to :

(A) Moves the Cursor end of the line

(B) Moves the Cursor end of the document
(C) Moves the Cursor end of the paragraph

(D) Moves the Cursor end of the screen

Which of the following is not a font style ?
(A) Bold

(B) Italics

(C) Regular

(D) Superscript

.............. 1s a presentation program.
(A) U-torrent

(B) Mozilla firefox

(C) MS-PowerPoint

(D) Slide Panel

Default PowerPoint standard layout :
(A) Blank

(B) Title slide

(C) Title only

(D) Comparison
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59.

60.

61.

62.

63.

Shortcut key for text italic :
(A) Ctl+Z

(B) Ctrl+Alt+1

(C) Ctrl+K

(D) Ctrl+1

Portrait and Landscape are :
(A) Page orientation

(B) Paper size

(C) Page layout

(D) All of these

A is a collection of predefined
design elements and color schemes.

(A) Feature

(B) Hyperlink

(C) Palette

(D) Theme

You can detect spelling and grammar errors
by :

(A) Press Shift+F7

(B) Press Ctrl +F7

(C) PressAlt +F7

(D) Press F7

Ctrl + Cisused to:
(A) Copy

(B) Cut

(C) Print

(D) Paste
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64.

6S.

66.

67.

68.

The people who write computer programs

are called :

(A) Plumber
(B) Programmer
(C) Carpenter
(D) All of these

A language directly understood by Computer

without any further translation is :
(A) Machine

(B) HLL

(C) Assembly

(D) None of these

The Language that uses only binary digits
is:

(A) HLL

(B) Machine

(C) Assembly

(D) None of these

The machine independent language is :
(A) Machine

(B) Assembly

(C) HLL

(D) None of these

A non-procedural language is also called :
(A) 3GL

(B) 4GL

(C) 5GL

(D) None of these
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69.

70.

71.

72.

The software used to present ideas and

concepts in pictorial and animated form :
(A) Unix

(B) Presentation Software

(C) Both (A) and (B)

(D) None of these

To write H,O you will use
spacing.

(A) Superscript

(B) Subscript

(C) Both (A) and (B)

(D) None of these

What is the shortcut key to set the Left
Indent ?

(A) Ctrl+M
(B) Ctrl+H
(C) Ctrl +N
(D) None of these

In which tab the Header and Footer is

available ?
(A) Print
(B) Web
(C) Insert
(D) None of these
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73. Which of the following technology is used

74.

75.

76.

77.

in fourth generation computer ?
(A) Vacuum tube

(B) Transistor

(C) VLSI

(D) Integrated Circuits

The Shortcut to make the text bold is :
(A) Cul+V

(B) Cul+B

(C) Cul+1

(D) None of these

The wavy red line refers to :
(A) Grammatical error

(B) Spelling error

(C) Format error

(D) None of these

Symbol for the division is :
(A) #
B) +
©) /
(D) *

Which of the following options is used to
copy a file ?

(A) Cut and Paste
(B) Copy and Paste
(C) Paste and Copy
(D) Copy and Cut
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(B) Ctrl+B

(C) Ctrl+1

(D) =78 ¥ %I &

et T A FRYE wl ©
(A) TR TX

B) =T W@

(C) AT AW

(D) T | = Ta

T & fore faea ®
(A) #
B) +
<) /
D) *

HEA HA w & o Frafafea sdtee
T TR ST ©

(A) T U=

(B) =hidt & T

(C) & o Tt

(D) w4t o e
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78.

79.

80.

81.

82.

A group of 4 bits is called :
(A) Byte

(B) Nibble

(C) Megabyte

(D) Gigabyte

0 and 1 are called :
(A) Unique digits
(B) Double digits
(C) Binary digits
(D) None of these

ENIAC is an example of .............
computer.

(A) 2nd

(B) 3rd

(C) 1st

(D) 4th

generation

Hardware devices that are not part of main
computer but added later :

(A) Peripheral

(B) Clipart

(C) Execute

(D) Highlight

What do you call a computer on a network
that requests files from another computer ?
(A) Client

(B) Router

(C) Host

(D) Web Server
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78.

79.

80.

81.

82.

(C) 1st
(D) 4th

TEER feame W 6w w1 i TR
T Tt T SIS B ORI W §

(A) THA

(B) frgetme

(C) T

(D) TrEeAEE

IH HFIR HI A F1 FHedl S Aeah W
TISE S & ToTT TR e | J1eAT shal
%,

(A) FEE
(B) BT
(C) =
(D) 39 TR
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83.

84.

8S.

86.

How can you catch a computer virus ?
(A) Sending e-mail message

(B) Using Laptop during winter

(C) Shopping online

(D) Opening e-mail attachment

Google is a:

(A) Search Engine

(B) Directory of Image
(C) Chatting app

(D) Web browser

Which of the following is example of web
browser ?

(A) Modem

(B) e-mail id

(C) Google Chrome

(D) ISP

The flip horizontal option is available under

which tool ?
(A) Rotate
(B) Crop

(C) Resize

(D) None of these
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83.

84.

8S.

86.

FHEHH ARG Pl i ThS S Tohl § 2
(A) e-mail 5T T

(B) @t H Laptop use F%h

(C) Online TR &

(D) e-mail Attachment 1 & &

TIAFRTE ?
(A) & o
(B) == =t STat
(C) =fém T
(D) o9 TP

frAfafed # | web browser T 330
% :

(A) e

(B) 9o oMEET

(C) T

(D) o1 wq

Flip horizontal ST fF¥ Tool H BT ¥ ?

(A) Rotate

(B) Crop

(C) Resize

(D) =T | #Ig T
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87.

88.

89.

90.

Which one of the following keys is used to
select the adjacent files or folders ?

(A) Caps Lock

(B) Shift

(C) Alt

(D) Ctd

Which of the following is not a feature of

windows 10 ?
(A) Snap

(B) Jump lists
(C) Taskbar

(D) CUI

JPG extension refers to :
(A) Movie file

(B) Image file

(C) System file

(D) Textfile

What was the first ARPANET message ?
(A) lo

(B) Hello

(C) Hello world

(D) Mary had a lamb
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87.

88.

89.

90.

o oo

Frefafea & @ e &1 (Key) 1 980
FIEeH 9 Weed i adjacent I & T
AT ?

(A) Caps Lock

(B) Shift

(C) Alt

D) Ctd

frfafea § 9 e favEs 10 1w
T ?

(A) F

(B) ¥ feree

(C) TrE=haR

(D) t.7.3TE.

JPG TRYF forad grafeea ®
(A) 7ot T |

(B) o=t wrza &

(C) Ta=d wa §

(D) <R w9

wEe ARPANET 1 H& o ?
(A) lo

(B) Hello

(C) Hello world

(D) Mary had a lamb
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91.

92.

93.

94.

9s.

CD computer abbreviation usually means :

(A) Command Description
(B) Change Data

(C) Compact Disc

(D) Copy Disc

Headquarters of Intel located :
(A) Redmond, Washington
(B) Santa Clara, California
(C) Tucson, Arizona

(D) Richmond, Virginia

Which is not an Internet Protocol ?
(A) HTTP

(B) FTP

(C) STP

(D) IP

AOL stands for :

(A) Audio Over LAN
(B) America Over LAN
(C) America On-line
(D) Audio On-line

Another name for computer chip is :

(A) Execute
(B) Microchip
(C) Select

(D) Microprocessor
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91.

92.

93.

94.

9s.

CD FER TSTH 1 e ¢ :
(A) wHvE feferam

(B) ST S

(C) e fewh

(D) hidt fe&n

Inte] 1 TSFATR FET © ?
(A) Redmond, Washington
(B) Santa Clara, California
(C) Tucson, Arizona

(D) Richmond, Virginia

freferfed § 9§ seie ieiehial el © :

(A) TEAAR.
(B) .2
(C) TH.TA.
(D) TE.4t.

AOL & &7 :

(A) Audio Over LAN
(B) America Over LAN
(C) America On-line
(D) Audio On-line

FHTX o0 HI I AW
(A) TIPS

(B) wEshif=rd

(C) werw

(D) TEIIHHR
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96. www stands for :
(A) World wide web
(B) World wide war
(C) World web war
(D) World wide wait

97. What does EPROM stand for :

(A) Electric Programmable Read Only
Memory

(B) Erasable Programmable Read Only
Memory

(C) Every Person Requires One Mind
(D) Evaluable Person Requires One Mind

98. In computer jargon, RAM refers to :
(A) Read Only Menu
(B) Random Access Memory
(C) Random Access Menu
(D) Read Access Memory

99. Which is not a computer language ?
(A) Windows 98
(B) C++
(C) PASCAL
(D) Fortran

100. http://www.objectivebooks.com is an
example of :
(A) URL
(B) Directory
(C) Access code
(D) Server
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96. www HT AL T :
(A) World wide web
(B) World wide war
(C) World web war
(D) World wide wait

97. EPROM 1 quf &7¢f % :
(A) Electric Programmable Read Only
Memory

(B) Erasable Programmable Read Only
Memory

(C) Every Person Requires One Mind
(D) Evaluable Person Requires One Mind

98. FHT H RAM 1 314 T
(A) Read Only Menu
(B) Random Access Memory
(C) Random Access Menu
(D) Read Access Memory

99, feAfeifed § | S HE2e Ht 9o & ¢ 2
(A) Windows 98
(B) C++
(C) PASCAL
(D) Fortran

100. http://www.objectivebooks.com Teh 3TELI
T
(A) URL &1
(B) Directory =hl
(C) Access code ohl
(D) Server b1
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